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I.  Why is an exponential model appropriate?
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,II. Write an equation that models the situation
uy
S = Ysoo C\ + 2SN\ QO = UYpsoCroasd

Ill. Make atable V. Make a graph
Xt : coae. | ;1
Wl i e \u.' fg@;e';w 7
qOoo laga 15453 7 2e esse Pt
10 %06 9 Fhloce e
. ol e sRtaees |
Brsmmas dmm g -
B M EEEnimSiJmasaSnuiRRcan
RARBEEWANEE JREXIELL Nk
MOHL IEREENERNEA RN RN
e , £




l;andard Exponential Functions
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* Exponential graphs can be written without the horizontal shift and not all
exponential graphs have a vertical shift.

A scientist is growing bacteria, starting with a culture of 5 bacteria. Bacteria “grow” by multiplying.
After 2 hours there are 14 bacteria. How many bacteria will be present after { hours?

I.  Why is an exponential model appropriate?
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Il.  Write an equation that models the situation.
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